247 10H

BHBEARAILXY X B

e — RN
un.ia‘l‘i

Bc 5 X

1500x1200%xXx1200H S$S=1.30
1500 REES 1500 HEE
HE| 2 | HEBRAY RS R nE 7 EuEREH RS £
50) 14@100=1400 50 (ke./m) (m) (ke) 70, 130190 4@180=720 190130 70 (kg m) (m) (ke)
S1|D13| 0.995 | 4 | 1.420 | 5.652 F1|D13| 0.995 | 5 | 4.942 | 24.586
S 2 [D13| 0.995 | 2 | 1.080 | 2.149 o F2 |D13| 0.995 | 1 | 3.856 | 3.837
S | w $3 (D13| 0.995 | 2 | 0.808 | 1.608 - F3 [D13| 0.995 | 1 | 4.056 | 4.036
. = = F =A== = S4 |D13| 0.995 | 1 | 0.740 | 0.736 = (& F4 |DI3| 0.995 | 7 | 3.062 | 21.327
- ) T $5 |D13| 0.995 | 9 | 1.120 | 10.030 - F5 |D13| 0.995 | 4 | 3.336 | 13.277
S I @ =
o I i S AN $6 [D13| 0.995 | 2 | 0.650 | 1.294 o i | L F6 [D13| 0.995 | 2 | 2.706 | 5.385
SIS b ® — 7 [D13| 0.995 | 2 | 0.508 | 1.011 S @ | F7 [D13| 0.995 | 8 | 0.370 | 2.945
S H o $8 [D13| 0.995 | 2 | 0.448 | 0.892 2 SHEBEEE | wo— 75398 ke
i — $9 [D13| 0.995 | 2 | 0.770 | 1.532 avyy—ruM  v= 1.014m’
S S sl=l=Pl=A = 9 $10|D13| 0.995 | 2 | 0.656 1.305 § / SE£EEEE W= 2 484 kg
— Y ] S11|D13| 0.995 | 1 | 2.524 | 2.511 -
o[ e
© UHRHEEE |Ws= 28720 ke
8 avsy—t+ruaE V= 0.204 m’
@ @ SZHEE = 720 kg
o ) o
o o
l L | | @
E | T E \ '
g | | g | |
ol = . ElA o = | = 4
S B n N S & | i |
s ® | - i | | e : ) 1 0
o L I g o i I I S S
o = © l ! © \ !
o[ U’[ © 1 T —— 1 — T o T e —— T — T
50 14@100=1400 50 50/ 10 60150=900 100 50 e 2
o
1500 1200 = S
83 117190 5@160=800 | 190117 |83 83 117 5@160=800 |11} | 83
1500 1200
% o 0 s == " & SNOW TECNOLOGY
FATIE JREFE |5 2u84ke || 1/30 BB xh KoT
e * P HEVATLRIET X7 LHME
o 1500 x 1200 x 1200H gHN/ 2/ 6 Fé I R %%Z E & KXt 2—F v

0.



